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Vocabulary(4 points)

A-Match the sentences with the pictures. There is one extra sentence.

1. This person can cure your illness.( )
2. There's no need to shout, | can hear perfectly well.()
3. The drought meant the low rainfall and lack of water.()
4. What does the abbreviation "10S" stand for?()
[OS
o ':: Internet\;msrtlér?lperating
'7,,7 hE (,_.:
(A) (B) © (D)

B-Match the definition with the words. There aretwo extra words.

combination - forgive- effectively - introduction - repeatedly- jump into

1- to stop being angry with someone(...................eoevviinnne. )

2-many times (......cooevevirieeinieeennnnnn.. )

3- an arrangement in a particular order (..............oooiiiiiiL. )

4- in a way that is successful and achieves what youwant (.......................... )

C-Fill in the blanks with appropriate words. There is one extra word.

tips - effectively— combination - jumped into- suppose-distinguished -repeatedly- immediately

1-1f you know how to study more.................. , you’ll be able to learn more.
2- 1 did not read the introductionand ........................... the next part.

3-I’ve told Mohsen ........................... to talk politely to his teachers.

4- In this lesson, we provide you with some helpful ............... on how to use a
dictionary efficiently.

5-Ifyou ...ooevviiiiiin. . jump into using the dictionary without understanding
the pronunciation guide, it can be difficult to figure it out.

6- Through sentence examples, try to learn ‘words in ...................... 'to expand
your vocabulary.

7- Dr. Gharib was known asa ..............ccoeviiiiinini, university professor.
8-l a monolingual dictionary is more suitable for you, because
you can find word information in English.
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Grammar(4 points)

D- write the appropriate words or phrases down in the blank?

1-There is little milk in the fridge, .......... there?

2-This building ................... repaired yet.

3- Ifound the keys ................... I lost yesterday. @

4-I’ve heard he’s sick, ................ ? L S N )
N (g

E-Change the following sentence into passive voice.
1. Doctors have made a new medicine to cure cancer.

F-Combined the following sentences by using the appropriate
relative pronoun(who/whom/whose/which).
1. | found the keys. I lost them yesterday.
Choose the best choice
1- The woman ......... met yesterday is coming to dinner.
1) who 2) which 3) whom 4) whom you
2- If my mother............... here, I'd ask her for help.
1) were 2) be 3) was 4) is
3-They..........c...... healthier if they lived in a village.
1) were 2) are 3) would be 4) be
4-His sister's passed the exam ,................... ?
1) isn't she 2) isn't he 3) hasn't she 4) hasn't he

(G-unscramble the following sentence.(1 point)
1- found- problems- to - by scientists- solutions- are
2- us -lives- milk- near- was- which- drinking- the cat.

Writing (8 points)

H-write one real compound sentence about your family.

I-There is an incorrect part in each sentence. Can you identify and correct
them?
1- It was my sister's birthday, or she was given some gifts.

1 2 3 4
2- The first Persian dictionary which is still published compiled more than 900
years ago. 1 2 3 4

J- There are two incomplete sentences below. Complete them
1. These shoes are not comfortable, SO .........uuuiiiiiiiiiiiiiiii .. .
2.1 go out tonight, ........ ......... take a rest
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¥ I K- Choose the best choice.
1- I would wear my red dress, ......cccevvevrennnn. it has a stain in the front. ‘
1) so 2) and 3) but 4) or @ |’
2- He would clear the snow, .................. he couldn't find the shovel. w |'
1) but 2) and 3) or 4) so
3- We don't have any more cameras in stock, ............... we would fill your
orderimmediately.
1) but 2) and 3) or 4) so
4- Tom made many promises, ................. he had no intention of keeping them.
1) but 2) and 3) or 4) so

f Reading (8 points)

L. Read the passages and choose the best choice.
In 1847 a Scottish boy was born in Edinburgh. At the young age he showed his

creativity and invented a machine that could clean wheat. After graduation from
the university he immigrated to Canada in 1870. One year later, he decided to
move to Boston and started working with deaf people. By his father, he invented a
special system which showed production of sound by tongue, lips and throat.
Alexander Graham Bell is famous for the invention of telephone. While he was
working on one of his inventions, he heard his assistant voice Thomas A. Watson.
He thought that it is also possible to send human voice over the wire. After
working a lot, he could invent telephone which is one of the most valuable
inventions in the world. In 1898, Alexander and his son-in-law took over the
National Geographic Society and built it into one of the most popular magazines
in the world. He died on August 2nd, 1922. Every year in the US on the day of his
burial, all telephone services stop for a minute.

1- The passage mainly deals with.......

1)Alexander’s immigration to different parts of the world

2) Alexander Graham Bell as a famous inventor

3) Stopping telephone services in the US every month

4) How he could able to work with deaf people in Boston

2- It can be understood from the passage that........

1. All the people in Scotland are smart enough to invent something

2. The industry of wheat is playing an important role in Scotland

3. He worked with deaf people because he could not find a job anywhere
4. He worked on a special machine with his father in order to help the deaf

3- The author mention something about telephone Disconnection once a

1. Tell the readers that telephone bill is too expensive in the United States
2. show that Alexander is very respectable because of his great invention
3. Sometimes telephones do not work very well in the US

4. Show the importance of telephone in communication



[ SVARYAN ol g Sl psle 5 b ol ans, ¥ el 51 ey el lges allis ]

4- All of the following are False EXCEPT
1. Watson was able to invent telephone alone
2. The invention of telephone was an easy task
3. Alexander had a cooperation with his son in law when he was very young
4. The invention of telephone was accidentally

Shah Jahan was a ruling emperor of a large portion of northern India in the
early 1600's. In 1612 he married, as one of his three wives, ArjumandBanu
Begum. She was called Mumtaz Mahal, which means '‘Chosen one of the Palace'.
She was the emperor's favorite wife. His wife died in 1631, after giving birth to
her 14" child. Shah Jahan had built several large structures already in India. He
grieved for his wife and decided to build a great tomb in her memory. He wanted
it to be across the Yamuna River from his palace in Agra.

Although the structure was begun in 1632, it was not finished for about twenty
years. The architect is thought to have been Ustad Ahmad Lahouri. 20,000
workers from India, Persia, Europe and the Ottoman Empire were employed. In
addition, 1000 elephants were used for carrying and dragging the great pieces of
stone and marble. The cost was measured in rupees and today would equal about
827 million dollars. It is told that Shah Jahan intended to build another structure
for himself connected by a bridge to that of his wife. However, in 1658, the

3" son of Mumtaz Mahal overthrew his father who was sick and took over. Shah
Jahan spent the final years of his life under close supervision, or house arrest. ‘He
‘lived at the Red Fort in Agra in a tower. He died in 1665 and was buried next to
his wife.

5- Which of the following person had the Taj Mahal built?
1) Shah Jahan 2) Mumtaz Mabhal

3)Arjumand Banu 4)Us tad Ahmad Lahouri
6- What does the word “he” in the last paragraph refer to?

1) Shah Jahan 2) Mumtaz Mabhal
3)Arjumand Banu 4)Us tad Ahmad Lahouri

7- Which of the following is Not true?
1) . Mumtaz Mahal, means 'Chosen one of the Palace.

2) More than 18,000 workers from different nations were employed
3)Mumtaz Mahal died in 1665 and was buried next to his wife
4) The cost was measured in rupees and today would equal about 827 million dollars

8- In what year was the structure which was across the Yamuna finished?
1) 1632 2) 1652 3) 1642 4) 1640

Good Luck




